Peak Height

Run 5039, snapshots: Peak Height vs. Sum

2200 = 0.29% snapshots accepted
— o :
2000 — 99.29% Peak HeIght Cut
u 99.29% Saturation Cut
1800 — 99.40% Correct Pedestal Cut
| 49.92% Narrow Pedestal Cut
1600 — 99.71% Time Cut
1400 —
1200 —
1000 —
800 —
600 — |
400 — w
200 —
: I I I I I I I I I I I I I

10000 20000 30000 40000 50000
Sum

Ok



Pedestal Average

Pedestal Average

3800

3795

3790

3785

3780

3775

3830

3820

3810

3800

3790

3780

3770

3760

3750

Run 5039, snapshots: Pedestal vs. Time

Run 5039, snapshots: Pedestal vs. Time
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